B4 AALIC K DR i B

[Ff4HE4 A7) 2Ly PEE

ARSEATBOE N T AR B N AR R AR

» ) DWBEANOGE
T, BTG SRO S DA R D S ST O . P o -
BRuman S RO RO B LI 1 e R TH O ooy S LS i Fielik P L TR i
EPTE ¥
NIENOKX Y It JEFL - IREEE B
B8 O K5y

s
R BRI = 2 — 5 o o h > |y —pip |FHA EAH (BR) SEpict et e
il 1 J&&ﬁfﬂdﬂz%l%%m/nﬂ%%/%g m Kéiﬁ BRI 191 ffﬂi*%ﬁﬂAﬁ%ﬁm — (5010001003723 EiE3 = ININ 9, 164, 1001 8, 690, 000[1] 94.8%

S KO 6 — 5 — 1 ’
I LT T K A5 R 2 oo e Wer 5/ (1)
He5L X fth AR 2 o> fth e !
ot & e i ﬁﬂmﬁQELKBE FR4EAR 181 BrERES - TS LR 2 —2 1 6030001069497 (A S NN 18, 676, 9001 10, 439, 00011 55.9%

HUTLHHAE X i 6 — 5 — 1 -6

O

WSLTIM (RE) E — 3 HRBEA ] (B) et eps it
THED 1l 1 PR UCE i%Aég&ﬁAKE ARAEAA 4R HEEREIETESF 4 — 11 -4 [6030001044913 E23 2NN 15, 787, 20011 10,560, 000/ | 66.9%

SO KT 6 — 5 — 1 5

;&i%gé&$
R0 8= 74— L & pagi 1 ik |0 A () BT
St (ERSHED) TrHaR s #é%ﬁh HF4E4A 25 B iﬁﬂﬁﬁtme JRMT 12— [4011101036787 A B AAL 5,993, 900F] 5, 753, 000F] 96.0%

FUHRHE X9 HT15 6 — 5 — 1
[UR=S2=7 {AH] RO3L (%) B R IFRF 2T
m@%%é%mfl%%% A AT 190 ?fﬁ?ﬁmﬁwmﬁmml— 3011101014463 EiE3 = ININ 6, 344, 8001 4,840, 000 76.3%

2—16

f 3
U PP 6 — 5 — 1




